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(General Studies/lkekU; vè;;u )

(Paper-I/i=k&I)

(vf/dre vad&300)
Instructions :
	z The figures in the margin indicate full marks.
	z Answer eight question, selecting three each from Section-I and Section-II and two from Section-III.
	z Candidates are required to give their answers in their own words as far as practicable.
	z All questions have been printed both in Hindi and English. In case of any ambiguity in Hindi version, the 

English version shall be considered authentic.
	z Parts of the same question must be answered together and must not be interposed between answers to other 

questions.
funsZ'k %
	z mikUr ds vad iw.kk±d ds |ksrd gSaA

	z [kaM&I ,oa [kaM&II izR;sd esa ls rhu&rhu iz'u rFkk [kaM&II ls nks iz'uksa dk p;u djrs gq, dqy vkB iz'uksa ds mÙkj 
nsaA

	z ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

	z lHkh iz'u fganh vkSj vaxzsth nksuksa Hkk"kk esa Nis gSaA ;fn fganh Hkk"kk esa dksbZ lansg gS] rks vaxzsth Hkk"kk dks gh izkekf.kd 
ekuk tk,xkA

	z ,d gh iz'u ds fofHkUu [kaMksa ds mÙkj vfuok;Z :i ls ,d lkFk gh fy[ks tk,¡ rFkk muds chp esa vU; iz'uksa ds mÙkj 
u fy[ksaA

[kaM&1/Section-I
	 1.	 Critically examine the evoluation of Indian nationalism since the late 19th century.� 38

	 	 19oha lnh ds mÙkjk¼Z ls Hkkjrh; jk"Vªokn ds fodkl dh vkykspukRed leh{kk dhft;sA
	 2.	 "Champaran Satyagraha is a watershed in the freedom struggle." Elucidate.� 38

	 	 ¶paikj.k lR;kxzg Lokèkhurk la?k"kZ dk ,d fu.kkZ;d eksM+ FkkA¸
	 3.	 What were the reasons behind overseas immigrationin the 19th century British India? Discuss in the light 

of the indenture system wiwth special reference to Bihar.� 38
	 	 19oha lnh ds fczfV'kdkyhu Hkkjr esa leqæ ikjf;rk ikjaxr ds D;k dkj.k Fks\ fcgkj ds fo'ks"k lanHkZ esa baMsapj i¼fr 

ds vkyksd esa foospuk dhft;sA
	 4.	 Examine the characteristics of tribal protest in the 19th century with suitable examples. Give reasons for 

their failure.� 38
	 	 mi;qDr mnkgj.k lfgr 19oha lnh esa tutkrh; izfrjksèk dh fo'ks"krkvksa dh leh{kk dhft;sA mudh vliQyrk ds 

dkj.k crkb,A
	 5.	 Discuss the features of Mauryan art and architecture and its relationship with Buddhism.� 38

	 	 ekS;Z dyk rFkk Hkou&fuekZ.k dyk dh fo'ks"krkvksa dks Li"V dhft;s rFkk ckS¼ èkeZ ds lkFk muds lacaèk ij Hkh izdk'k 
Mkfy;sA

	 6.	 Write short notes on any two of the following:� 19×2=38
	 (a)	 Working Class and National Movement

	 (b)	 Impact of census of 1881 on caste and religious identities

	 (c)	 Nehru and secularism

	 	 fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k;s%
	 (d)	 etnwj oxZ vkSj jk"Vªh; vkanksyu

	 ([k)	 tkfr vkSj èkeZ ls tqM+h igpku ij 1881 dh tux.kuk dk izHkko

	 (x)	 usg: vkSj èkeZ&fujis{krk
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[kaM&II/Section-II

	 7.		 What is the major focus of UNDP Human Development Report, 2019? In what way does the analysis go 
beyong income, average and present condition? Critically examine.� 38

	 	 ;w,uMhih áweu MsoyiesaV fjiksVZ] 2019 dk izeq[k fo"k; D;k gS\ fo'ys"k.k fdl izdkj vk;] vkSlr vkSj orZeku 
fLFkfr ds vkxs pyk tkrk gS\ vkykspukRed leh{kk dhft;sA

	 8.	 Discuss the prospects of trade promotion between Afghanistan and India with the launching of New Export 
Route to and from India through Chabahar Port.� 38

	 	 pkcgkj canjxkg ls gksus okys Hkkjr ds u;s vk;kr&fu;kZr ekxZ ds izekspu ls viQxkfuLrku vkSj Hkkjr ds chp O;kikj 
izksRlkgu dh laHkkoukvksa dh foospuk dhft;sA

	 9.	 Critically examine the key variables that support well-being as per the United Nationsl Sustainable 
Development Solutions Network.� 38

	 	 la;qDr jk"Vª fVdkÅ fodkl lekèkku usVodZ ds vuqlkj lq[knkf;rk ds leFkZd izeq[k lwpdksa dh leh{kkRed vkykspuk 
dhft;sA

	 10.	 Why does India has an open-door policy with Nepal and Bhutan as regards free movement of people 
between the two nations? Explain.� 38

	 	 nks jk"Vªksa ds chp yksxksa ds eqDr vkokxeu dk tgk¡ rd loky gS] Hkkjr us usiky vkSj HkwVku ds lkFk eqDr }kj uhfr 
D;ksa viuk;k gS\ le>kb,A

	 11.	 Discuss the UAE's invitation for India as a Guest of Honour to attend the OIC Foreign Ministers Meet as 
a signal change in geopolitical dynamics.� 38

	 	 Hkwjktdh; xfr'khyrk esa lkadsfrd ifjorZu ds :i esa vksvkbZlh ds fons'k eaf=k;ksa ds lEesyu esa Hkkx ysus ds fy;s 
Hkkjr dks vfrfFk&fo'ks"k ds :i esa ;w,bZ ds fuea=k.k dk foospu dhft;sA

[kaM&III/Section-III

	 12.	 The following charts depict the distribution of overseas tourists from India to various countries and also 
the age distribution of trourists from India during the year 2017:� 38

	 (a)	 If amogest the European Union, Switzerland accounts for 25% of trourists traffic and it is known 
from official Swiss records that a total of 4 lakh Indian trourists visited Switzerland during the year 
2017, then how many total number of Indian trourists in the age group of 40-49 years went abrorad 
from India during the year 2017?

	 (b)	 If the total number of trourists of age group 30-49 is 2400000, what is the number of tourists who 
are more than 60 years of age?

	 (c)	 If total number of Indian trourists who went to China more than 40 years of age, was 360000 constituted 
30% of total tourists to China, then how many tourists of other age groups went to China?
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	 (d)	 Assuming that the total number of tourists from India going abroad increased by 20% in the year 
2018, what will be the total number of tourists in age group less than 30 in the year 2018?

	 (e)	 If per capita spending per day of tourists in UK is ` 6,000 and that in USA is ` 5,000 and it is known 
that 32000000 tourists visited these two countries, what was the total spending of the tourists in these 
countreis?

	 	 fuEu vkys[k o"kZ 2017 esa fofHkUu ns'kksa esa Hkkjrh; i;ZVdksa ds forj.k vkSj muds vk;q forj.k dks iznf'kZr djrs gSa%

		

	 (d)	 ;fn ;wjksih; la?k ds varxZr] fLoV~tjySaM esa 25% i;ZVd vkrs gSa vkSj vkfèkdkfjd fLol fjdkWMZ ls Kkr gS 
fd o"kZ 2017 esa dqy 4 yk[k Hkkjrh; i;ZVd fLoV~tjySaM x;s Fks] rks o"kZ 2017 esa Hkkjr ls 40&49 vk;qoxZ 
ds i;ZVdksa dh la[;k fdruh Fkh\

	 ([k)	 ;fn 30-49 vk;qoxZ ds i;ZVdksa dh dqy la[;k 2400000 gS] rks 60 o"kZ ls vfèkd vk;q ds i;ZVdksa dh 
la[;k fdrhu gS\

	 (x)	 ;fn 3600000 Hkkjrh; i;ZVd] ftudh vk;q 40 o"kZ ls vfèkd Fkh] phu ds dqy i;ZVdksa dk 30% Fks] rks 
vU; vk;qoxZ ds fdrus i;ZVd phu x;s Fks\

	 (?k)	 eku yhft;s fd Hkkjr ls fons'k tkus okys i;ZVdksa dh la[;k o"kZ 2018 esa 20» c<+ tkrh gS] rks 30 o"kZ ls 
de vk;q ds i;ZVdksa dh la[;k 2018 esa D;k gksxh\

	 (Ä)	 ;fn ;w-ds- esa i;ZVdksa dk izfrfnu izfr O;fDr O;; ` 6,000 gS vkSj la;qDr jkT; vesfjdk esa ` 5,000 gS vkSj 
Kkr gS fd dqy 3200000 i;ZVd bu ns'kksa esa i;ZVu ds fy;s x;s Fks] rks bu ns'kksa esa i;ZVdksa dk dqy fdruk 
[kpZ vk;k\

	 13.	 The following multiple bar chart shows production of same type of vehicle (in thousands) for a period of 
three years by selected manufacturers and the line chart shows prices of vehicles in the year 2017:
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	 (a)	 What is the percent increase in the production of vehicles in 2017 from 2015? � 6
	 (b)	 Which manufacturers have produced the same number of vehicles during the period under 

consideration?� 6
	 (c)	 What percent of the total production of vehicles is produced by manufacturers A and D? � 6
	 (d)	 For which manufacturer, the profit percent is maximum in the year 2017?� 6
	 (e)	 If the manufacturer D had to call back 4000 of its vehicles due to some defects, what is percent profit/

loss of the company? � 6
	 	 fuEu cgq&'kykdk ys[kkfp=k p;fur fuekZrkvksa }kjk fdlh ,d izdkj ds okgu (gtkj esa) dk mRiknu rhu o"kZ dh 

vofèk ds fy;s n'kkZrk gS vkSj ys[kkfp=k okguksa ds ewY;ksa dks o"kZ 2017 ds fy;s n'kkZrk gS%
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	 (d)	 o"kZ 2015 ls o"kZ 2017 esa okguksa ds mRiknu esa dqy fdrus izfr'kr o`f¼ gqbZ gS\

	 ([k)	 fdu mRikndksa us] fopkjkèkhu vofèk esa okguksa dh cjkcj la[;k mRikfnr dh gS\

	 (x)	 dqy mRiknu dk fdruk izfr'kr mRiknd A vkSj D ds }kjk mRiknu fd;k tkrk gS\

	 (?k)	 o"kZ 2017 esa fdl mRiknd dk ykHk izfr'kr vfèkdre gS\

	 (Ä)	 ;fn mRiknd D dks dqN nks"kksa ds dkj.k 4000 okguksa dks okil cqykuk iM+k gks] rks daiuh dk ykHk@gkfu 

izfr'kr fdruk gS\

	 14.	 The following graph shows the populations of three countreis during the years 2012-17:� 38

	 (a)	 What percent of total population is accounted by the country A in the year 2017? �
	 (b)	 If the sex ratios of countries B and C in the year 2016 were 106.5 and 105.2, what is the number of 

females in these countries?�
	 (c)	 If the number of females in the country A in the year 2014 is 21.25 crores, what is the sex ratio of 

country A in the year 2017?
	 (d)	 Which year recorded the maximum growth of population in three countries?
	 (e)	 Which year recorded the minimum growth of the population?

	 	 fuEu js[kkfp=k o"kZ 2012-17 ds nkSjku rhu ns'kksa dh tula[;k dks n'kkZrk gS%

	 	

	 (d)	 o"kZ 2017 esa ns'k A dh tula[;k] dqy tula[;k dk fdruk izfr'kr gS\

	 ([k)	 ;fn ns'kksa B vkSj C esa o"kZ 2016 esa fyax vuqikr 106.5 vkSj 105.2 Fks] rks bu ns'kksa esa fL=k;ksa dh la[;k 
fdruh gS\
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	 (x)	 ;fn ns'k A esa fL=k;ksa dh la[;k o"kZ 2014 esa 21.25 djksM+ Fkh] rks o"kZ 2017 esa ns'k A esa fyaxkuqikr fdruk Fkk\

	 (?k)	 fdl o"kZ esa rhuksa ns'kksa esa tula[;k dh vfèkdre o`f¼ ntZ dh xbZ\

	 (Ä)	 fdl o"kZ esa tula[;k esa U;wure o`f¼ ntZ dh xbZ\
	 15.	 The graph below gives exports (` in thousand crore) from three companies X, Y and Z over three years. 

Study the line graph and answer the questions given below:� 36

	 (a)	 Average annual exports for companies X and Y, respectively are approximately what percent of the 
average annual exports of company Z during the given period?

	 (b)	 What is the difference between the maximum and the minimum average annual export over the years?
	 (c)	 In which years, the average annual exports of the companies were same?
	 (d)	 In which years, the exports from company Z were more than the average annual exports of all the 

companies?
	 (e)	 What is the percent increase in the total export of all the companies during the years 2015-2017 in 

companies to the years 2011-2014?
	 	 uhps fn, gq, js[kkfp=k rhu daifu;ksa X, Y vkSj Z ls rhu o"kks± ds fu;kZr vk¡dM+s (` gtkj djksM+ esa) n'kkZrk gSA 

js[kkfp=k dk vè;;u dhft;s vkSj uhps fn;s x, iz'uksa ds mÙkj nhft;s%

	 (d)	 nh xbZ vofèk esa daiuh X vkSj daiuh Y dk vkSlr okf"kZd fu;kZr] daiuh Z ds vkSlr okf"kZd fu;kZr dk 
fdruk izfr'kr gS\

	 ([k)	 fn;s x, o"kks± esa vfèkdre vkSj U;wure vkSlr okf"kZd fu;kZr ds chp D;k varj gS\
	 (x)	 fdu o"kks± esa daifu;ksa ds vkSlr okf"kZd fu;kZr ,dleku Fks\
	 (?k)	 fdu o"kks± esa diuh Z dk fu;kZr] lHkh daifu;ksa ds la;qDr vkSlr okf"kZd fu;kZr ls vfèkd Fkk\
	 (Ä)	 o"kZ 2015&2017 ds nkSjku lHkh daifu;ksa ds dqy fu;kZr esa] o"kZ 2011-14 dh rqyuk esa fdrus izfr'kr o`f¼ 

ntZ dh xbZ\


